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[E2hTire| BEfEss | SR 22 £ E 23 G B
Kigi 4 Tiy| @ & E IhE P & & X 15%iE
FiaN (1) [EP A J10]12-12 = 100/ 1.2 J1.0| 12712 = 100 1.2
Fiall(2) RENEERE B J1.2[12-12 = 100] 1.5 §1.2| 1212 = 100/ 1.6
HENE R EAE A ]08|1212 = 100) 1.0 J0.8) 12712 = 100 1.0
BN TR() [FEXE AMB)J09[| 1212 = 100/ 1.0 §0.8] 12712 = 100] 0.9
NI TR (Q2) =8 AB)1.2| 1212 = 100 1.4 §1.2| 1012 = 83] 1.2
BRJIEGR (1) |HETES A J1o|jl1M-12 = 92/ 1.2)106] 1212 = 100 0.5
BRINEFR (2 [=FEXE A Q11| 1112 = 921201071212 = 100 0.8
&)1 T ik RiliE AB)J1.2| 1212 = 100 1.5 1.0} 1212 = 100/ 1.0
AE(2) e A 1411212 = 100 1.6 J1.2| 11 ~12 = 92 1.5
RCXE A J10]12-12 = 100) 1.2 J1.0) 12712 = 100[ 1.1
AREINQ) EkiE A J10]12-12 = 100) 1.1 J0.9) 1212 = 100[ 1.1
AZNHER A 121112 = Q11101112 = 92] 1.1
MEINER |[REHE AA105| 11~ 11 = 100]{<0.5J<0.5] 10~ 10 = 100] <0.5
eI A |11 1010 = 100[ 1.4 J0.7] 12 712 = 100[ 0.9
LA B A Jo6[ 1212 = 100[ 0.5 J0.6] 12712 = 100] 0.7
MERINTR |EREE A J07]12-12 = 100/ 0.8 10.6| 1212 = 100 0.8
e A 071212 = 100[ 0.7 JO0.6] 12712 = 100] 0.6
HERIJIE A J07]12-12 = 100/ 0.8 3109|1212 = 100 0.9
[E @ ARHE A Jo7[ 1111 = 100[ 1.1 JO.7] 1212 = 100] 0.7
284 A J10j]10~10 = 100/ 1.3 07| 11 ~11 = 100 0.9
TrERI AR B J09[ 1111 = 100] 1.1 JO.7[ 1010 = 100] 0.8
NENLESR  [waw - EERGHSS |A(C)1.1] 1212 = 100] 1.3 §0.8] 12712 = 100] 1.0
MNBINTFR [NEEE AC)07|11~11 = 100] 0.6 §0.9| 10710 = 100| 1.2
A& — /B B(E)]1.4|1 1212 = 100] 1.6 J2.0| 11 ~12 = 92 2.2
ERINLE [ZEE AA107| 1M ~-12 = 92/ 0806|1112 = 92/<0.5
EFINTHR A58 A J10]12-12 = 100/ 1.2 10.7| 1212 = 100 0.7
EE ZatE AA 1106|1212 = 100/ 0.6 §0.5| 1212 = 100]<0.5
2= 4 A J07]12-12 = 100/ 0.6 J0.6| 12712 = 100 0.6
A FHE A J07]12-12 = 100/ 0.9 10.5| 12 712 = 100[<0.5
(&R0 HEE A J06| 99 = 100 0.6J07) 99 = 100/ 0.8
REAI i SATHS AB)|08| 1212 = 100/ 1.0 )0.8] 9.9 = 100/ 1.0
1 BEHE AB)J13[ 1212 = 100 1.4 §0.9] 1212 = 100] 1.1
Xl R 1B AB)]1.1 2712 = 100 1.3 J1.0] 1212 = 100] 1.2
FED] EUE A |05[ 12712 = 100[{<0.5J0.6] 12712 = 100 0.5
HREF )11 HRKXE A JO05| 1111 = 100/<0.500.5]| 12712 = 100[<0.5
=B Rl A 06| 8.8 = 1000 0.6 J0.7) 1010 = 100 0.8
L& EE A Jo7]11~11 = 100/ 09)108] 1111 = 100 0.9
J\EJII J\BJIIE A J11]110-10 = 100/ 1.4 11| 11 ~12 = 92 1.3
EEJII INCE: A 09| 99 = 100 1.0 J1.0) 1212 = 100[ 1.1
B 7]1] T EE A 06| 1212 = 100/ 0.6 J0.6| 1212 = 100 0.7
Bl K2R A J<0.5| 88 = 100/<0.500.5]| 12712 = 100[<0.5
=)l =2)IE A Jo0o5|11T-11 = 100/<0.500.5| 11~ 11 = 100[<0.5
FERI HER A 06| 11~~11 = 100/ 0.8 3108|1011 = 91] 0.8
22 M1 E P IE A 06| 1212 = 100/ 0.7 J0.6| 12712 = 100 0.6
AF RO A J10] 6.7 = 86 1.8]09)10~11 = 091 1.0
= 8)il s A Jo7]11~11 = 100/ 0.8 10.8] 12712 = 100 0.9
1 F)IE A J05|11~-11 = 100/<0.510.6] 1010 = 100 0.6
EER) EiEiE A 1061 1010 = 100l 0.6 06 12 ~12 = 100{ 0.6
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b COD (i)

(8 : mg/L)

BAHTIISH| BEHESS 5 22 3 23 3 3
K& B | ¥FY B 7 ¥ T5%E| T B & 15%E
EBE() [BhamE Al27[ 1,6 = 34| 28 [ 0,6 = 033
18 15 B 5E A|l23] 276 = 25| 2.4 [ 1,6 = 11] 2.8
BBE(Q (Y oXammE | A | 22 | 4.6 = 271 26 [ 0,6 = 0] 2.7
EHARME Al24] 176 = 2.8 2.7 | 2,6 = 33] 290
T & B LRk Al1o] 46 = 21| 1.9 | 6,6 = 83 2.0
Bk Al24] 076 = 24 2.2 | 3,6 = 50| 2.4
BRIIFAR B | 36| 1,712 = 381390 | 112 = 8 42
B % & [BRE B | 34 3,12 = 371371 1,12 = 8§ 39
B R B | 34 2,/12 = 3635 2,12 = 1136
% @B Al18] 34 = 1.9 21 | 2,4 =50 2.1
= % E [RREM A|18 ][ 44 = 19| 21 | 24 = 50 2.2
B Al1T ] a4 = 18] 1.8 | 3,4 = 15[ 1.7
ILEEBRE  |[PIERI A|i16 ]| 4,4 = 18] 20 | 3,4 = 75/ 2.0
AERBH Al16] 4a/4 = 10| 1.0 3,4 = 75/ 1.9
RERE B0 AJ30] os12 = 3131 012 = 035
ERE A 133 0 12 = 33136 012 = 038
c Z2ERRULH (@)
(B2ZEFR) (B : mg/L)
ERHTES| BREEERA 4] 22 & 23 & i 3
JKigi B B | ¥y B & B 5
SLEHE 0.38] 2.6 = 2”76 = 33
BHL(7) |[BEBE 0.38] 1,6 = 276 = 33
T 0.38] 312 = 4712 = 33
EPEET YT 0.25] 6 /6 = 36 = 50
\EL(«) |[BLESME 0.32 4.6 = 276 = 33
E35) 0.20] 0/ 12 = 5,12 = &
LR 0.26] 4.6 = 6,6 = 100
T R B (BEBRE 0.48] 2,6 = 5,6 = 83
FH 0.31] 6,12 = 1,12 = 0
HRIAAS 0.62] 06 = 06 = 0
B & B [PRH 050 1.6 = 16 = 11
R RS 0.4 0,6 = 176 = 17
i 0.83 118 = 2,18 = 11
EOE 0.35] 2.6 = 36 = 50
RERE  |[BREH 0.4 2.6 = 276 = 33
FH 041 4712 = 512 = &
(&5) (B - mg/L)
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SLEME 0.02[ 5/ 6 = 5/ 6 = 83
EHE(7) [EEME 0.019] 5/ 6 = 57 6 = 83
T8 0.021] 10 /7 12 = 10/ 12 = 83
EPEFT YT 0.012] 6./ 6 = 6, 6 = 100
B8E () [EHLARME 0.014 6/ 6 = 6.~ 6 = 100
E35] 0.013] 12/ 12 = 12,7 12 = 100
LR 0.009 6~ 6 = 6. 6 = 100
T R E [BRME 0.018] 5,/ 6 = 6, 6 = 100
8 0.014] 11 7 12 = 2,7 12 = 100
BRIAAS 0.047 2.7 6 = 37 6 = 50
B % B [PRH 0.031 3/ 6 = 47 6 = 6
BRI 0.031 5/ 6 = 47 6 = 6
iy 0.036] 10~ 18 = 1, 18 = 6
ZOB 0.021 6./ 6 = 57 6 = 83
RERE |BEH 0.036] 2,/ 6 = 37 6 = 50
B3] 0.0 87 12 = 82 12 = 6]
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RS TREN SR VEREESA-KETT,

[Eincy| BmzeEss | &% 3 3
K ik & = Ey FEy oW 5 =
: B 0,003 T00J 0.003] 4.4 = 100]
=l RNBER £¥8 o0 100[0.004 [ 12 7 12 = 100
BENLR \TRE EWA 0.001 | 127 12 = 100]
EIER (D [EAR EMB 0.003] 12712 = 100]
FISAONERS EMB 0.003] 12712 = 100]
S AR EMB 0010 12712 = 100]
E{ﬁﬁ#ﬁﬁ 0004 12712 = 1ooi 0004 12,712 = 1oo=
. RIEARE 0.004 | 12712 = 100§ 0004 12712 = 100
ARNTR ErE EMB o004 44 = T00j0006] 474 = 100]
I ES 0.005| 12717 = 100§ 0004 12712 = 100}
HEILE |&Z5E EHA 0.001 | 10710 = 700l
IRE 0.004 [ 12 ~ 12 = 100}
LA BT 0.002 | 12712 = 100]
HEITR |[BERER EmB 0.002| 12712 = 100]
HER 0003 4.4 = 100]
BEJIE 00051 4.4 = 100]
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